| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

30

20

5 10 15 20 25
track dxy (cm)
10

-10

track dz (cm)

0

-20

3
=
=1 =1

05 =50-15-10 50

vl I
k- - -
oL...
lOE -
=30

10

50 o o o
— ﬂ — —
sxoel; areoljdnp

| N of associated (recoToSim) looper tracks vs dz |

5

30

track dxy (cm)
20
track dz (cm)

10

25-20-15-10-5 0 5 10 15 20 2

0.95!

Syoel) aye} M

30

20

track dxy (cm)

10

track dz (cm)

25-20-15-10-5 0 5 10 15 20 25

b
5

SR e
S 2 2 -

0.95

[N of associated (recoToSim) tracks vs dz_]

30

MKFIL_I'T_Tetram
20

DQM_mkFit_TTold

BOM
10

5 10 15 20 25
track dxy (cm)

= R a—
S S 8§ 8 g -
SYo&h

O ¥E=50-15-10 =5 0
N of reco track vs dz

2
oney

track dz (cm)



	Contents
	Page 1


